

①

$$\textcircled{1} \quad \frac{r}{q} - \frac{r}{r} \sin \alpha - \frac{1}{\varepsilon} \cos^r \alpha = 0 \rightarrow \frac{r}{q} - \frac{r}{r} \sin \alpha - \frac{1}{\varepsilon} + \frac{1}{\varepsilon} \sin^r \alpha = 0 \rightarrow x \varepsilon$$

$$\sin^r \alpha - \frac{r}{r} \sin \alpha + \frac{1}{q} = 0 \rightarrow x q \rightarrow q \sin^r \alpha - r \sin \alpha + 1 = 0 \Rightarrow (r \sin \alpha - 1)(r \sin \alpha - 1) = 0$$

$\frac{1}{q} \checkmark \quad \frac{r}{r} = \text{CJZ}$

$$\sin \alpha = \frac{1}{r} \rightarrow \frac{1}{q} + \cos^r \alpha = 1 \rightarrow \cos^r \alpha = \frac{1}{q} \rightarrow \cos \alpha = \frac{r \sqrt{r}}{r}$$

$$1 + \tan^r \alpha = \frac{1}{\cos^r \alpha} \rightarrow \frac{1}{\frac{1}{q}} \Rightarrow \left(\frac{q}{1} \right)$$

$$\textcircled{1} \quad \underbrace{\frac{r \sin \alpha}{\cos \alpha}}_{-\cos \alpha = \cos \alpha} = \frac{r \sin \alpha}{\cos \alpha} \rightarrow \frac{\sin \alpha}{\cos \alpha} = r \rightarrow \sin \alpha = r \cos \alpha \rightarrow q \cos^r \alpha + \cos^r \alpha = 1$$

$$1 \cdot \cos^r \alpha = 1 \rightarrow \cos = \frac{1}{\sqrt{1}} = \frac{\sqrt{1}}{1} \rightarrow \sin \alpha = \frac{r \sqrt{1}}{1} \rightarrow \sin = \cos \rightarrow \frac{r \sqrt{1}}{1} = \frac{\sqrt{1}}{1} = \left[\frac{r \sqrt{1}}{\Delta r} \right]$$

$$\textcircled{2} \quad \sin^r \alpha + \cos^r \alpha = \frac{1 - \sin^r \alpha}{\Delta}$$

$$\cos^r \alpha + \sin^r \alpha \rightarrow \frac{(1 - \cos^r \alpha)}{1 - \cos^r \alpha} + \cos^r \alpha \rightarrow \left[\frac{r}{1} \right]$$

$$\textcircled{3} \quad \frac{\sin \alpha (r + \cos \alpha)}{r(1 - \cos \alpha)} \rightarrow \frac{r + \cos \alpha}{r \sin \alpha} \rightarrow \sin \alpha < \dots$$

$\text{محدود است} \rightarrow -1 < \cos \alpha < 1$

$$\sin \alpha \times \frac{\sin \alpha}{\cos \alpha} - \frac{1}{\cos \alpha} \rightarrow \frac{\sin^2 \alpha - 1}{\cos \alpha} \rightarrow -\cos \alpha \rightarrow \cos \alpha < \dots$$

$\Rightarrow$! $\frac{1}{\cos \alpha} \rightarrow 0$ $\frac{1}{\cos \alpha} \rightarrow 0$

$$\begin{aligned}
 (4) \quad \frac{r}{\sin \alpha} + \frac{r'}{\cos \alpha} &= 0 \rightarrow \frac{r \cos \alpha + r' \sin \alpha}{\sin \cos \alpha} = 0 \rightarrow r \cos \alpha + r' \sin \alpha = 0 \rightarrow r \cos \alpha = -r' \sin \alpha \\
 &\rightarrow \frac{r}{\sin \alpha} + \frac{r'}{\cos \alpha} = 1 \rightarrow \frac{r'}{\sin \alpha} = 1 - \frac{r}{\sin \alpha} \rightarrow \sin \alpha = \frac{r}{\sqrt{r^2 + r'^2}} \\
 &\rightarrow \cos \alpha = \frac{-r'}{\sqrt{r^2 + r'^2}} \Rightarrow \tan \alpha = \frac{\frac{r}{\sqrt{r^2 + r'^2}}}{\frac{-r'}{\sqrt{r^2 + r'^2}}} = \left[\frac{-r}{r'} \right] \quad \left[\cot \alpha = \frac{-r'}{r} \right] \\
 &\rightarrow \tan \alpha + \cot \alpha = \frac{-r'}{r} - \frac{r}{r'} = \frac{-r'^2 - r^2}{r r'} = \left[\frac{-r^2 - r'^2}{r r'} \right]
 \end{aligned}$$

(1) $\frac{r}{\sin \alpha} = \frac{r'}{\cos \alpha}$
 (2) $\cos \alpha = \frac{r'}{r} \sin \alpha$

(v)

$$\begin{aligned}
 (A) \quad & \frac{(1 - r \sin^2 \Delta)(r \cos^2 \Delta - 1)}{(\cos \Delta)} \left(\frac{1 - \tan^2 \Delta}{1 + \tan^2 \Delta} \right) \\
 & \frac{\cos^2 \Delta}{(\cos^2 \Delta - \sin^2 \Delta)} \frac{\cos^2 \Delta}{(\cos^2 \Delta - \sin^2 \Delta)} \frac{-1 + \cos^2 \Delta}{(r \cos^2 \Delta - 1)} \\
 & \cos^2 \Delta - \sin^2 \Delta \rightarrow (r \cos^2 \Delta - r \sin^2 \Delta - 1)
 \end{aligned}$$

(9)

$$(10) \quad \sin B \sin C = \frac{1 + \cos A}{r} \rightarrow r \sin B \sin C = 1 + \cos A$$